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Please note that this key is within the purview of
Oxford Advanced Learner’s Dictionary, published in 2014.

Explanations and answers to select questions

01 Option (A) is the correct answer. Option (C) cannot be the answer. Remember, it should be an irreversible
(binomial) word pair.

02 Option (B) is the correct answer. The correct spelling is : Barbecue.
04 Option (D) is the correct answer. It is : Ver-y.
07 Option (A) is the correct answer. Option (B) is not a past tense, it is an adjective, ‘died’ is.
09 Option (B) is the correct answer. It is a V1 and is pronounced as, ‘Entraance’.
10 Option (C) is the correct answer. It is Splurge = Splash+Surge.
21 Option (A) is the correct answer. The word ‘tempest’ is a noun which means ‘a violent storm’ and is not

a superlative degree, hence the article ‘a’.
22 Option (B) is the correct answer. With the main clause supplied, we need to fill only past perfect (had run),

to complete that third conditional with its pattern : ‘If + past perfect (had run), would + have + past
participle (bought)’.

27 Option (B) is the correct answer. “Couldn’t” is an action in a more recent past. The earlier past action is
of ‘locking’, so a past perfect ‘had locked’ for that.

28 Option (C) is the correct answer. For keeping the structure of the sentence parallel, two gerund phrases need
to be used.

29 Option (D) is the correct answer. The words in the first pair are synonyms of each other and so are ‘Furnish’
and ‘Equip’.

33 Option (D) is the correct answer. When the reporting verb is in simple future tense (will say here) there is
no change of tense in the reported speech.
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